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INSTRUCTION

There will be total 110 Questions all objective type of multiple choice only. Only 100 to be attempted.
Questions of (01) one mark each.
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1. There will be 110 questions, at least, out of which 100 will have to be answered., 10 questions
(optional) will be on Rajbhasha. If any candidate answers more than 100, the first 100 attempted

questions will be evaluated.
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2. For filling the OMR sheet, use only Blue/Black ink only.
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3. No cutting, over writing or modifying is allowed.
faralT YahIe T e | 3NeR ASTET AT FMUT T AT LT & |
4. Ensure signature of Invigilator/Officer In charge on answer sheet/OMR sheet.
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5. Marks will not be deducted for wrong answer.
A 3R I3 hencidleTel el SITeaT |
6. Select option as capital letters in English alphabet like A or B or C or D.

ST FUTATAT FH AT BAT CAT DF a3 e & 9 H Aeqg o1 aqa 4 |

7. In case of difference in the interpretation of the question in Hindi & English version the English

version will be treated as correct.
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4)

5)

6)

7)

8)

9)

TRD Timing of 7103 TSC is:
710 sft 3 S ) e 3.

(@) Minimum 30 seconds HIH F 30 Aehe (b) Minimum 50 seconds #H # FH 50 HF2

(¢) Minimum 60 seconds &9 W 1 60 e

How many cylinders are in HHP Loco Engine?

@@ﬂﬁﬁmﬁmﬁﬁ%mm &
(@) 8 (b) 12 (c) 16 (d) None of the above 378 # 1% 77
Torsion

al Damper is fitted on the: TRIGITE gy fire 2 :

(a) Front End of the Engine $9 % strey it

(¢) Front and Rear End of the Engine 357 % 1ot usi frae figr 3 (d) None %1 72t

Left Side Cam Gear is driven by: aﬁmm%ﬁmmﬁﬁ% :
(a) Right Side Cam Gear e T % o o

(b) No. 1 Idler Gear Fo. | 3Tgger TR &
(¢) No. 2 Idler Gear o, 2 TSR TR G

(d) Crank Shaft Gear % ¥ a7 3

Maximqm speed of WDG4D Locomotive over East Central Railway is:
T Sy 1 4 < i B st 2
(a) 100 kmph (b) 105 kmph () 135 kmph

(d)160 kmph
a) 100 f% st wfyser

b) 105 f sh.sfrver ) 135 fm st d) 160 fr 5 57 oo

WDG4 is a:
ESCIEIPES

(a) Single Cab Loco Tshel &d dlishl (b) Dual Cab Loco EEISEERSIED
(c) Dual Cab Loco with Disc Brake 33Tt 3 et feh 3 & |y
(d) (d) Dual Cab Loco with Hotel Load 31Tl % @it Sieet #i1e & |y

How many teeth are in HHP Locomotive Crank Shaft Gear?

T O it SRt ok Sk T T fo g e 2 2

(a) 58 (b) 64 ©79 (d 113
HHP Locomotive is also known as:

T T i SAhmIfed 30 90 & oft ST S 2

(a) EMD Locomotive $UH & dmifes (b) GM Locomotive Sft uH Hisnmifes

(c) G4/P4 Locomotive Sft4/d14 ereidifea (d) All of the above Ik T+t

WDG4D is specially designed for:
<] < St 4 €1 et w9 | stfvefoua (feeme) 2
(a) Passenger Service ITA Gar (b) Goods Service T ¥aT

(c) Mixed Service afsa @ar (d) None of the above 378 & IS 7@l

10) Which type of bogie is used in HHP locomotive
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o wehm =1 ST} S el & vt o o eften

(a) Fabricated bogie tfserce ah (b) Cast steel FrZ &
(c) High tensile cast steel BT ¢T3 1% e (d) None of these 31 & #13 77

11) What is full form of EPD

iR T AT RIE
(a) Engine protection device 35 Teehud fearsg (b) Engine priming device 357 wrzfm fzama
(c) Electric power drive séﬁga?wgrsa (d) Electro power drive UeF! 9Ta 2189

12)No.1-8 Power Assembly are—
TR TRl FaR 1-8 R -
(a) Fork Type ®idh 21q (b) Blade Type &g 2137
(c) Fork and Blade both are in mixed arrangement, ®leh Ud scig i3 2189 (d) None &g &

13) Which type of Traction Motors fitted in HHP LOCO?
mwﬁﬁﬁ%&m%ﬁmmmm?ﬂ%?

(a) 3-PhaseACMotors 3-%< TH} OteX (b)DC Series Motors €t €itis ied
(c) Both A& B U3fiT sl a1 (d) None of these =I5 Tl

14) In the HHP locomotive the Turbo charger is driven by

g U9 9 A A &l 9ol afad §
(a) Exhaust Gas 3= g (b) Gear Train &R
(¢) Gear Train &Exhaust gas T ¢ U §W2 719 (d) None of these #15 g

15) WDP4/WDG4 loco while conducting airbrake self test on working control stand.
T S ot 4/ Soc] STt 4 TAHT A TSIk Heh SR L §H

(a) A9 handle should be kept in run position T9 &ed T ufeiH & BT iR
(b) SA9 handle should be kept in release position THT9 et fiefer Gfsrer # T 1Ry

(C) LT switch in trail position Qﬁ'ﬁﬁﬁﬁ?ﬁ‘ﬁ@ﬁﬂqﬁ REICIEY
(d) Both A and B © 3R 4 gt

16) For what period of time after suspension 50% subsistence allowance is given?

50% TisEza HeAT37-4 Feiad & 918 foha &9 ae fea sar s 2
(a) 4months 4 wE (b) 8months 8 W& (c) 3months 3 A (d)10months 10 HIE

17) Charge sheet under Standard Form-11(SF-11) is given to a Railway Employee for

R HMH-11 (T8 Uh-11) F ded Tl e 1 =1 e ¥ qed e amr e
() Major Penalty JES e (b) Minor Penalty agag (¢)Suspension fefam
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(d) Removal foqae

18) How many spin on filters are fitted in HHP Locomotive?
T o i AT W et R feae o7 fheet wpen A 2 0 -
(a) 1 (by 2 (¢) 4 (d) -

19) In HHP Locomotive, maximum fuel is injected at-
T U 4t Asnmifed d stfieman Sy s BT -
(2) 9.6 before the TDC 9.6° AL &t Fueet (b) 0.8° after the TDC, 0.8° A HF A
(c) 15.8° before the TDC, 15.8° &1 €1 €t % yaat (d) 16.6° before TDC 16.6° 21 €T HI & Tee

20) TO - VCD cycle is called —
&to — <t =t < Asfopet FRemar 2 -
(a) Vigilance cycle, fafseia arfra (b) Warning cycle, a7 &@rgferar
(c) Penalty brake cycle, U1t 5 Arefet (d) All of these. 39U G+

21) Air dryer is fitted-
TR SR e 2 -
(a) Before MR1 Reservoir, T 31X | feraist & yaat
(b) Between MR1 & MR2 Reservoir, T 3R | Ud U 371 2 fEaist & i i
(c) Between MR2 & CCB System, UH IR 2 ta @l @1 A freg g
(d) After MR2 Reservoir. TH 31 2 @& F o

22) Main Role of Traction Inverters in HHP LOCO?
T T Y Slehl H ¢ S 1 e o & 2
(a) To control 3-Phase AC Induction Motors 3 %< T Ht srea1 HieT 1 fifsd sy

(b) To control 3phase Alternator 3 % 3ficedet ohi fR=IfT F@T
(c) Both A& B €Tt 3T (d) None of these $T8 & 1S A&t

23) Which of the following is the disadvantage of electric traction over other system of traction?

THL SFI o TohToTot Sellergar S99 T T hefl & 2
(a) Corrosion problem in the underground pipe work. 3TSUIR-€ TISY | SHISH Y gue
(b) Short time power failure interrupts traffic for hours. FH T T T fThetar TR Y i s & 5ot ¥

feu

(c) High capital outlay in fixed installation beside route limitation. e e ITseet frue sedm &
AT w2 fafuee

(d) All of the above. Iutr a+ft

24) Which of the following is the advantage of electric braking?

TR AT e f d g e 2 0
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(a) It avoids wear of track. I8 235 & ferdra =t s=TaT @

(b) Motor continues to remain loaded during braking. ®1et sifd1 % €1H AIgg @
(c) Itis Instantaneous. I& effoTe &

(d) More heat is generated during braking. sifshT & @l s1emfes For seq— 2t 2

25) In nomenclature of Locomotives Z means:

ARt Jifea o AT H SIS T FIT HeloTel ® ¢
(a) Broad Gauge sTg = (b) Meter Gauge et i1 (c) Narrow Gauge 71 =
(d) None of These 0 @ HIS T

26) Water temperature maintained in cooling system—
i forem & arft 61 aren ARt war e -
(a) 64%-90°, (b) 65% - 91, (c) 79°% - 85%. (d) None of these. %1% 7

27) Flasher light working voltage
RN ATSE T IFHT e B

(a) 72v (b) 12V (c) 24V (d) None of these FE 77

28) The number of position of MU2B valve are
w3 2 &t ared § e wsfte ar?
(a) 3 (b)2 (c)4 (d) 1

29) APU stands for
T ot g T g A R
(a) Alternate power unit avleﬁEW{ﬁZ (b) Auto power unit afm’rwaﬁz (¢) Auxiliary power unit

sfisieficft e afe  (d) None IS i

30)01Foot =___Inch
Uh Bl = =
(a) 18 (b) 24 (c) 12 (d)e

31) Head light rating in WDP4/WDG4 loco is
s St 4 / Soe & St 4 AT A se AgE AT AT R
(a) 100W32V (b) 200W30V (c)250W32V (d) 250W 34V

32) Total no. of Water expansion tanks in WDP4/WDG4
T 4/ goe] € St 4 SreRT § el Forat et vl S R
(a) 1 (b) 2 (© 3 (d 4

33) Breather valve is provided to sfigt artea fear srar 2

(a) Vent the piston ring blow-bye air from the compressor crank case. FFIET e T Q sl-a19 T e for
e 2q
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(b) Maintain vacuum inside compressor sump which helps to eliminate carbon build upon the compressor valve,
FEITEE % AR T B S AR A R R a1 8 e e i

(¢) Maintain vacuum inside compressor sump which helps to prevent oil from being drawn right piston. WW
F SEU AT T 3 1 GRPIAT e R arfed fre @ sivger A @ A i

(d) All of the above. Iwle @it

34) What % is15 of 60?
15 fraa afewa ® 60 &7 2
() 25% (b) 30% (c) 18% (d) 22.5%

35)If a circular cone of diameter 10cm. and height 8cm. then lateral height of cone in cms is?

aﬁﬁmmﬂ@mm 109, 1. w5 39 8 4. 1. 4 vi% 1 oo otaré (&, o) 20
(a) 10 (b) 15 (c) 13 (d) 6

36) Diagonal of rectangle of sides a=6cm. and b=8cm.is?

et <refst 1 3o a=6 8. . 3f b-g . 1. 2 1 v el 2 9
(a) 10 (b)14 (c) 8\2 (d) None of these F1% Fe1

37) Who is Chief Justice of India
I & T =TT i § 2
(a) SriNani Palkiwala #t 9 TSl (b) Sri D Y Chandrachud ISP (c) Smt Fatima
Begam  #fiweft BIfcrm ST (d) Sri Rangnath Mishra st e fiysr

38) Who is vice president of India
T & SU-UUfd FH & 2
(a) Sri Manohar Joshi #t SISt (b) Sri Om Birla 1 3T fS7e  (c) Sri Jagdip Dhankhad s 921 we
(d) None of the above 38 & IS T&f

39) There are how many zonal railway in India
I | e fof ST (o &
(a) 15 (b) 16 (c) 17 (d)18

40) RDSO is located at
AT S Uy 7 Yaftud @
(a) Varanasi aTort (b) Patiala g (c) Bhopal wiare (d) Lucknow S@d&

41) Full Form of EFCO-
$ o et o1 1 e A B
(a) Engine Fuel Cut Out Switch. g R QI TACH K fa=
(b) Engine Fuel Conditioning Object. 35 T FHi~eufT 3{festiae
(c) Emergency Fuel Cut Off Switch. WW@W AT fea=
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(d) None of the above. ITUHTQ ﬁé el
5 . .
42) LR dropping at higher notch, probable reason of it is- 127 319 0 Ust 31w g % w3

(a) Baggic filter may be chocked, sI§ft fiheet < &) gapen &

(b) Booster air pipe connection to governor may be broken/disconnected, a4 & #3#2 g SR AT BT F FAH
s { -6 il HIG il =
z21/ fewmfaes & wear @
(c) Defective fuel injector, fE%feed ®at T=iaex
(d) All of the these. 3T T+ft

43) If a man sells his fruit at Rs. 80 per kg and his loss percentage is 20%, Then cost price is

TS JATSHT I 209%%@@:%%3&83%@sowqﬁr%m%am%a‘tmmu@w%

(a) Rs. 90 (b) Rs. 100 (c)Rs. 105 (d)Rs. 125
44) There are how many division in ECR

g, 7. L forem fefam &

(a) 3 (b)5 (c)7 d)9

45) Only workshop for coaches of ECR
9. . L. 1 THATH I FREMTR 2
(a) PD/DDU W€t/ €idig (b) Mech WS/SP] Zife HR@MT / T8 t & (c) CRW/HRT #t 31 &=t
&Hd  (d) DEMU/SEE 39 /8T

46) DEMU stands for
EELCERN
(a) Diesel Electric Multiple Unit ‘sﬁwséﬁgamaﬁgaz{\ﬁz
(b) Diesel Efficient Multiple Unit 5t 3% #ediqe gfie
(c) Diesel Effective Multiple Unit et $hfaed Hediget e
(d) None of the above TR T HIE T

47) MEMU stands for
TSI R?
(a) Mainline Electric Multiple Unit B @15 gaifdgsh Heeiyet IfHe
(b) More Efficient Multiple Unit AR mq@gﬁﬂﬁ?
(c) Mean Effective Multiple Unit 4 $%hfdea aediqel IfHe
(d) None of the above T8 & &I5 Tel

48) First Vande Bharat of ECR runs between
q oY gEell de WId werd! &
(a) PNBE-HWH  Were@el  (b) PNBE-NJP UeA1-=] i T (¢) PNBE-RNC TLt=t  (d)

None of the above Sﬁ@aﬁéqﬁ
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49) Diesel Loco Shed Patratu was relocated from which, place
S AV I8 Gerrq el 4 worretfre oo o

(@) 1D SR (b) CPU A4 (¢) IMP SHIeAyT (d) GAYA ™1

50) ECR started its functioning from
90 P i gan

(@) September 2002 fads® 2002 (b) October 2003 3fFraT 2003 (¢) November 2004 9397 2004 (d)
December 2005 fewmm 2005

51)On date what is holding of Patratu Shed
3 % o v A A Bifen 2
(@) 89 HHP + 05 SHUNTING + 132 WAGY
(b) 89 HHP + 05 SHUNTING + 123 WAG9
(c) 89 HHP + 05 SHUNTING + 112 WAG9
(d) 79 HHP + 05 SHUNTING + 132 WAG9

52) Test done during the overhauling of motor

I o @i % SR fpan ST arer 252
(a) Runtest W= (b) Surge test Gl & (c) Blow bye test a1 o9 28 (d) Load test &g 2%

53) Electric motor is a machine
Felfaees AT Aefa & 9
(a) That converts Mechanical Energy into Electric Energy Fﬁﬁ%ﬁfﬁﬁgﬁﬁﬁm%
(b) That converts Electric Energy into Mechanical Energy Gﬁﬁgﬁﬁfﬁﬂﬁﬁﬁwé
(c) That converts Heat Energy into Electrical Energy Eﬁmm’faﬁﬁgaaﬁﬁﬁaﬁm%
(d) That converts Heat Energy into Mechanical Energy ST SEHT Sl Bl FifAeh ol A SEeAdl &

54) Control stand of HHP locomotive is called-
U U 4t AHIHIRE 1 et B FEATdT & - o
(a) Control Cabin @H%ﬁ'—f (b) Control Desk EI-T@H@W (c) Control Console a@aw

(d) None of the above T § I3 &l

55) Which of the following is used to convert AC into DC
f o A # U E T S SeeT ® N Jo—
(a) Transformer ST (b) Diode 1831 (¢) Resistor fifsieet

56) What is the effect of auto flasher operation
1A F Tge ATTEH o H1 T9 ¢

(@) Engine comes to idle SRR IFER SIS
All of above Iqurs gt

jon 31 s (d)
(b) auto flasher indication ST AT grehTE  (c) Buzzer



57) Reverser Contactor is used on diesel loco
oot ARt H EE shieahe i WA Bl @
(a) To change the direction of field current to Traction Motors 39T Hie & hieg #iZ £ faom e |
(b) To use the Dynamic braking STEfie sies vy
(c) To pass the power supply to T/Motors. m TleT &1 Tt FeATs urd EZER!
(d) All of the above I9Ueh @t

58) Advantages of installation of APU System is—
U ot 3 i R o A R 8 -
(a) Saving fuel oil consumption, I 3HTge o @Ud EICeIch:
Reduce noise pollution %HﬁHEjUT FHFAH (d) All of the above. I9Ih &t

(b) Reduce emission IGHFAFAT  (c)

59) No. of Brake blocks in HHP Loco
T U O AR B R st scliee Bld ©

(a) 24 (b) 12 (c) 08 (d) None of these 377 & hIE T

60) If a train is rolling downwards, how can the driver control the speed?

auﬁﬂamﬁmaﬁg@mnﬁaﬁ%&a@amé
(a) Emergency brake STTARTAH soh (b) Dynamic brake A 9% (c) Hand Brake B SF (d)

Independent brake L= LER-ED

61) Which test is performed on locomotives for checking capacity and performance

S 3 AT UE QT ST ¥ foTe i 1 SR AT &

(a) Load test AR (b) IR test 3% AR R (c) Run test HI= (d) Blow bye
test s AT &
62) Only pour  ---==----===-= in the HHP Loco—
o v b AR # e o -
(a) DM Water ST AT (b) Raw Water T d1eX (c) Tap Water a1 THT (d) All of these. REEL]

63) The higher temperature of the battery will cause the life of battery to
STt AT et ¥ S T A T FT
(a) Increase ElAGIRS (b) No effect FEugEAel (c) Decrease geraie  (d) Must for good life. D

St % foau seerF @

64) Shutting down of a diesel engine with hot engine alarms indicates
¥ 5 ST F AT SISl o 1 g BT ST e
(a) Engine temperature raised above 90°C. S d9HE 90°C FIWTSTATR
(b) Lube oil temperature raised above 90°C. <Is 3TEA d19HH 90°C %ma@; e
(c) Water in expansion tank became less §Fd=a SHU U Fm
(d) Eitheraorb amaladTh
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05) Blower Motors used in Electric Loco are three phased due to

gelfergeh AT 3 3 el Sell 3 Hiet Wk 2l ©
(@) Self-Starting and Compact in Size Heth T 3T ST 1 FFIFE
(b) Costeffective et $hfea
(c) Less energy consumption e forsreft @ua
(d) Converts single phase to three phase TE&Tet %l 1 3 % § eeidT 2

66) Material used for Contact Wire in loco power supply

ST T HOeATS | T2 SR o7 | a7 2

(a) Nickel Cadmium ﬁw%gﬁrm (b) Cadmium Copper h}f‘rmw (¢) Aluminum "W (d)
Hard Drawn Grooved Copper F@WI{\HW

67) Which of the following is an advantage of Electric Traction over other methods of traction?

3T I o TSI Sel (oo oA o a7 o &

(a) Faster Acceleration =™Ra @ (b) No Pollution Problems uﬁa;m?ﬁwwqﬁ (c) Better Braking Action
R el (d) All of the Above wwrwaft

68) What is the full form of “BEE™?
AETF O ETHRIR Y

(a) Basic Electrical Engineering éﬁlﬁ@%ﬁwsﬁ Tt

(b) Board of Electrical Efficiency =T 3% soifagaret sperit
(c) Board of Effective Energy =t it $faes wsit
(d) Bureau of Energy Efficiency i 3T G st

69) 1 micron is equal to

1 owee & sust 2
(a) 1 mm (b) 0.01 mm (¢)0.001 mm (d) 0.0001mm

70) Which of the following operations can be performed by drilling machine?

fefeim aefa & gro = = ufmn frenfaa a2
(a) Tapping <fem (b) Reaming W (c) Spot facing &1e Hfem (d) All of the above
I T
71) Feeler gauge is used to measure between 2 matching part.
Frer 19 g e 2 2 e aet ym _ATAH
(a) Clearance it (b) Diameter =99 (¢) Both (a)and (b) a 3™ b A} (d) None of these 1§ T8l
72) Abrasive wheels are attached to grinding wheel by - -
foediam =i smifea e & e s e - AN
(a) Abrasive 3¥afaa (b) Bond @l-g (¢) Grain 19 (d) All of the above ITU
a4t
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73) Which of the following is a type of fit? =1 4 fuse & gapm 2 2
(a) Clearance fit &4 fthe  (b) Interference fit =T 52 (¢) Transition fit g7 fiha (dy All of the
above JuTeh @t

74) The main function of a M/W section is: et T1ge @914 E@IW? :
(a) To maintain the M&P and equipment operationally serviccable TH TS o Ud 3 ITHT ] ATTIAA 7H ElELER
RECEI
(b) To repair the machine Wi =T frax
(c) To repair electrical motors Sﬁﬁ@?ﬁﬂ Hied o1 fro &
(d) To repair the crane o 1 fET T

75) Which one of the following is not a material of cutting tool:
o A i e g o1 AteTe 7 @
(a) High speed steel &5 &g & (b) High carbon steel 718 e T (c) Tool steel Za1 &

(d) Silicon carbide fafeiiq etz

76) Which one of the following must be an electromechanical equipment: ﬁmﬁﬁaﬁqqa@q%ﬁmm%
(a) Pneumatic hammer qj%%m (b) Hydraulic pump B‘I%’;’l%an‘qm (c) Overhead crane e A
(d) Jack St

77) Welding is a process of EIREU R IEDINS
(a) Casting FIRIT  (b) Machining T (c) Joining gt (d) None of these 15 F&1

78) Welding can’t be done on T8 & forgent Afe 32 &1 dehar
(a) Steel &l (b) Plastic @i (c) Wood e (d) Iron wTET
79) All these are welding joints except fopeer srerar @eft afeen sig= &
(a) Lap &9 (b) Butt i< (c) T-joint ASEE  (d) Expansion THaGIEH

80) SKF and NBC denotes the companies engaged in productién of T8 % U 37T U st ot wrafyal e Ieares § de
(a) Wheel ufeam (b)Bearings sIfa (¢) Axle Ve (d) Gear Box TR ST
81) A magnifying glass is used to observe/visualize which condition of a component. Rt SaUE I 3@ AT TANIH o

(a) Surface Corrosion dde FIIMH (b) Surface roughness @dg T&H
(b) Surface cracks Hde hh (d) All of the above 3uUh @t
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82) Which onc of the following is an item of transmission of motion? f# # %1 fd 7
(@) Pulley geft (b) Shaft ¥ (c)Beltalez  (d) All of the above 2 Al

83) Which of the following combination of the gases can be used for a welding operation: fo @ 71 9 T T ST
afcen o wares far

(@) Oxygenand NO, s @& NO2 (b) Acetylene and Hydrogen s#ZeAa 317 2135+
(¢) Oxygen and Acetylene  31Tfaesm 3 3actia (d) Hydrogen and NO, 7132+ AT NO2

84) The Ohm’s law states about ey o weiferg @

(a)Resistance gfqure

(b) Conductivity =TeTshar (b) Charge #1991
e

(d) Inductance

85) Which one is of the following is not a function of a lubricating oil: 1 & %1 Afsrerfem witget 1 e 727 2

(a) Maintain a thin film between two sliding parts @ ador aret HaTd & o Iel! fipew B2 T
(b) Reduce friction =¥ g FHeaT

(c) Sway away heat ITHIHIEAFHT  (d) Reduce noise I FH F7AT
86) The brake system EP used in DEMU stands for: @Wmﬁ%‘ﬁﬁiﬁ%
(a) Electric powered 3cifeees UraRe (b) Engine pressure &5 AT

(d) None s 7&t

(c) Electro pneumatic Qﬁiﬂjﬁ%

87) The couplers used to connect two units of DEMU is called: %‘C{ﬁ?ﬂ T2 i e el FIR FaeArT 2

(a) Shaku coupler ¥/ F9eR (b) CBC coupler #t sft €t syeie

(¢) ABC coupler Tt
[

(d) H-type coupler THI-Z8Y YeiX

88)The full form of LCC fitted in DEMU is: SR & Tt e eft s qof & 2 ©

(a) Loco control card el &g iet T b) Load control cabinet @€ HgIet Hise
(c) Load control card Fﬁis’%@?ﬁ»‘l‘sﬁ d) None #ig &t

89) Crown clearance “A” is measured between what,- SIS T “A” 1= # forer s s 2

(a) Between bolster & side frame W@W’s’%%ﬁﬁﬁﬁ?
(b) Between anchor link and primary suspension et fofeh Ue T TR % ofte

(¢) Between axle box crown and the crown bolt Vet e sh13 31 13T dlee % oe
(d) None of the above 39T | & FIE T8t
90) What type of roller bearing is fitted in ICF bogie wheel?
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(@) Single row selfalign spheric
(b) Double row

(c) Double row

_— al roller bearing. et 1t dewp HeTE Thfreret et et

self align cylindrical roller bearing. ae ﬁ;‘;@; 3?('*"3"4 fﬂfﬂmm‘rmauﬁn

) Snglonge nSell a.hgn ?I)hcrical roller bearing. g 11 ﬁwmﬁmwmﬁﬂ |
N on align Taper roller Bearing Uehet 0 51 etz dver apafer

gl)ThE"K't\' - .
Ype composite brake block should be changed, if fopay fora 2 3 =
. . ged, if worn out beyond- T4 for % @12 % 2130 FIVITHE 9,
SATH qGAAT ﬂll%q d SES
a)l0
Gt mm (b) 12Zmm ()20 mm (d)22 mm

92) The axle load of AC coaches is — Tt IS 1 UFdd @IE &
(a) 22.0tons  (b)16.25tons  (c) 15.0tons (d)14.50tons

93) The full form of BP is : st df 1 qvi &4 &
(a) Bypass U™  (b) Brake pipe S UEY  (c)Bent pipe §2ursy  (d)None of these IS T
94) The colour of feed pipe in coaching trains is- R A H Bl U HF T8

(a) Black &1 (b)Yellow Wi (c) Green &0 (d)White &%
95) Imetric tons= Kg 18fgweT= foretr o
(a) 100 (b)1000 (¢)10000 (d)None of these

96) In a triangle having sides a=5cm, b=12cm, and c=13cm then area of triangle (in cm’) is? @ﬁg&raﬁr gﬁﬁ’% a=54.

W bol2d. T, 3 c=13 Y. . 7 G STEA TR ?
(a) 60 (b) 30 (c) 15 (d) None of these I§ T&1

97) If a man is twice the age of his son and sum of age of both is 60 years, then what is age of son (in years) I F13

a’rﬁsmﬁgﬁ%gﬁwaﬂ%aﬂtaﬁ:ﬁ%wmaﬁéo%a‘rgamw@)ﬁw%?
(a) 15 (b) 18 ()20 ()22

98) A man goes 4km in north and 3km east, now his distance and direction from start point T et 4 fopat firer IaX

®3Wﬁﬁa§mﬁm%aﬁw&mﬁ—géaﬁ®ﬁmw%?

(a) 3km north east 3 for. . ij (b) 4km north west 4 T, ot sufsm () Skm north west 5 f. o

IqTufEm  (d) Skm north east 5 fip, ot SWE

99) HHP loco is @@‘ﬁ?ﬁﬁ%
(a) 04 stroke engine 04 Qw3 (b) 02 stroke engine 02 ®I&HISH (c) 0l stroke engine 01 ®& 3 (d)

None of these aﬁ@aﬁé:{ﬁ
100) ALCO loco is 3Tewhl Al &

(a) 04 stroke engine 04 wiH g (b) 02 stroke engine 02 TWHESH  (c) 01 stroke engine 01 &I §H (d)
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None of these & # 1€ A
101) ararwm sfafaem 1963 @@ qifva wsn
When was the Official Languages Act 1963 passed?
&) 10 H, 1963 @) 14 fadsm 1963 (@0 8 AL 1963 (1) 26 AL 1963
(A) T0™ May, 1963 (B) 14th September, 1963 (C) 8th March, 1963 (D) 26th January, 1963

to2)trsrr sifubem, 1903 f ad duifa gam
When was the Official Languages Act 1963 amended?
(b (1968 (@ (1963 (9T (1967 " (1976
(A) 1968 (B) 1963 (C) 1967 (D) 1976
103 yarsemen safufierm ) urn 3(3) @ & e cemy gd?
When did the Section 3(3) of Official Languages Act come into force?
(&( 10 FS, 1965 @ (14 @ 1967 @@ AT 1976 (T (26 S, 1965
(A) 10th May, 1965 (B) 14th September, 1967 (C) 8th March, 1976 (D) 26th January. 1965
Lo4ysrmr sifafiem 1963 41 um 3(3) ¥ siaia fred s Er T Wil w9 3 ST e s v

According to Section 3(3) of the Official Language Act, 1963 how many documents are mandatory to be issued in the bilingual

form?
& (10 (@( 12 @14 ({1
(A) 10 (B) 12 (C) 14 (D) 16

105)  frafafas aamsi i @9 s aw 33) ¥ siama 76 smar i
Which of the following documents are not covered under Section 3(3)?
(F) IR @ Y fagfa @n et g=a I
(A) Agreement (B) Press Releases (C) Tender Notice (D) None of these
106) TSt tfuferm 1963 1 amr 3(3) & weifua wrreTa Bray wod S fee sEER E 0
In which language may the papers related to Section 3(3) of the Official Language Act 1963 be issued?
@ Facd et (@ et sk s At & (3T) haeT SIS | () etar sEeh &
(A) Only Hindi (B) Hindi & English both (C) Only English (D) Hindi or English
107)@0era usvmT gfafd & sy #8993

Who is the Chairman of the Committee of Parliament on Official Language ?
() = form wft (@ FT FHY A S EEPRSR:El (& (S e =4

(A) Union Finance Minister (B) Union Agriculture Minister (C) Minister of Railway (D) Union Home Minister
108)FI$ TEATA TvTeh 3T deheATeh! ST @ AT ET | &1 i S T gear 22

Who can determine whether a document is of legal or technical nature?
(F( T AT A (@( @ A e @ TG eI Fitew JAREE (e e w1 I

(A) Mukhya Rajbhasha Adhikari (B) Principal Head of the Department (C) Principal Chief Personnel Officer (D) Head of the
office

 109) TS St ST T e 3 SaTe % o i Seatert 2
Who is responsible for compliance of the Official Language Act and the Official Language Rules?
(@ ey faummeas (G(FAeaEH TS 3= (3T( e ST
Aferarrt (A TG T HiHE 3w
(A) Principal Head of the Department  (B) Administrative Head of office  (C) Mukhya Rajbhasha
Adhikari (D) Principal Chief Personnel Officer

Loyt stferfemt it e wear fradt &
What is the total number of official language Rules?
(9 (10 @ (11 (& 12
(A)9 (B) 10 (C) 11 (D) 12
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Model ANSWERSHEET
LT for selection to th i i
ookl ! o the post of Junior E
(Mech/Diesel)/Patratu, Level-6 in Pay Matrix of 7th PC agai:s%l;sg
Promotion Quota. o

- |ANSWER | Q.No. | ANSWER| Q.No. [ANSWER!

e | 57| a |8 | 4 -

e pse | a T | o

. S I PR O

c . a_ | 6. b | 8 | o

= d 61. a 8. | ¢

: a 62. a 90. c |

© d 63. c 91, b

d a 64. c 92, b

b b 65. a 93. b
4 c 66." d 9. d
: & . b 67. d | 9. b
12. b 40. d 68. . d 96. b
13. a 41. c 69. e 97, T
14. c 42. d 70.. d 08. d
15. d 43. b 71. a 99. b
16. c 44, b 72. b 100, a
17. b 45. c 73. d 0. | a
18. d 46. a 74. a 102. c
19. a 47. a 75. d 103. d
20. a 48. C 76. c 104. c
21. b 49. d 77. . 105. d
22. a 50. b 78. c "~ 106 b
23. d 51. d 79 |- d | 107 d
24. a 52. a 80. b | 108. d
25. c 53. b 8. d 109. b
26. c 54. c 82. d 110. d
27. b 55. b 83. | ¢ - -
28. b 56. d 84. a - -
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